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1. There are types of heritability
2

2. Variability that occurs in homozygous individuals is due to

Linkage

3. is the process by which certain individuals are allowed to contribute
more towards progeny at the expense of others.

Selection

4. Heritability is symbolized as
hA2

5. Heritability values depend on:
All of the options

6. In a dihybrid cross, if the expected ratio is not seen in
chromosomes is suspected

linkage
7. Which of these traits is quantitative?
Continuous Variation

8. There is segregation in F4a,, population so therefore, variability is both
and

phenotypic and genetic

9. In the formular for Chi's square, &™ stands for

Sum up

10. In trihybrid with genotype AaBbCc, the number of gametes is

2X2X2
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